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11K. ^ZL«�N�ê�¤�8Ü.¦¤k¼êf : Z → Z,÷vé?¿�êaÚb,Ñk

f(2a) + 2f(b) = f(f(a+ b)).

12K. 3n�/ABC¥,:A13>BCþ,:B13>ACþ. :PÚQ©O3�ãAA1ÚBB1þ,�÷

vPQ²1uAB. 3��PB1þ�:P1,¦�:B1î� u:P�:P1�m,¿�∠PP1C = ∠BAC.

aq/,3��QA1þ�:Q1,¦�:A1î� u:Q�:Q1�m,¿�∠CQ1Q = ∠CBA.

y²: :P,Q, P1, Q1��.

13K. �����äþk2019�^r,,
^r�m´*l'X.��^rA´^rB�*l,K^

rB�´^rA�*l. Xe/ª�ö���E?1,z����?1��ö�:

n�^rA,BÚC,÷vA�B,CÑ´*l,�BÚCØ´*l,KÓ�UC¦��m�*

l'X,=BÚCC�*l,�A�BØ2´*l, A�C�Ø2´*l. ¤kÙ¦�*l'

XØUC.

®��Ð�k1010�^rz<Pk1009�*l,k1009�^rz<Pk1010�*l. y²: �3��

ö�S�,¦�ö�(å�,z�^r�õ�k��*l.
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14K. ¦¤k��êé(k, n),÷v

k! = (2n − 1)(2n − 2)(2n − 4) · · · (2n − 2n−1).

15K. ndÕ1u1�M13�¡þÒkH ,3,�¡þÒkT . M|knqù��M1¿òù
M

1l��mü¤�1. ¦�E/?1Xeö�:XJTkk (> 0)qM1H¡�þ,K¦òl��m�

1kqM1�=;XJ¤kM1Ñ´T¡�þ,KÊ�ö�.~X:�n = 3,¿�Ð©G�´THT ,K

ö�L§�THT → HHT → HTT → TTT ,o�?1
ngö��Ê�.

(a) y²: éz�Ð©G�,M|o3k�gö��Ê�.

(b) éz�Ð©G�C, PL(C)�M|lÐ©G�Cm©�Ê�ö���ö�gê, ~X

L(THT ) = 3, L(TTT ) = 0. ¦C�H¤k2n��U�Ð©G�����L(C)�²þ�.

16K. 3b�n�/ABC¥, I´S%, AB 6= AC. n�/ABC�S��ω�>BC, CAÚAB©O

��u:D, EÚF . L:D�R�uEF����ω�,�:�:�R. ��AR�ω�,��:�P .

n�/PCEÚn�/PBF�	���u,�:Q.

y²: ��DIÚPQ��:3L:A�R�uAI���þ.
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